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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1y 8- 9y 3 - 6x 6 - 9% 6 - 1x11= | 7x11-
9x9-= 7x9-+ 10x 11~ 8x 11-=
Ox 2= ox7/ =
3x 11+ 11xb-=
Oxo= 1ox0- Ax11= | 2x11-
8y 4 = 8y 6= 9x 11+ 11x 11+
Nx6- | 12¢11-
8xb-= 3%x98-=
By
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
8y 5 - 8y B - 77 - 66 - 1x11=  |7x11-
] ] 11x9= | 6x11-
6 - 6
3x8-  |8x7- I /X
3x 11+ 11x2-=
Ox4 = Ix8- Ux4- |11x8-
)y 8- 9y 6 - 11x5- | 10x11-
Mx11= |12x11-
10x 8= BX 0=
- 5y
Gem o O BEATERTI SRR URS - rea | Seeves §
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
10x 8 = 7% 8= 6x 6= 9x 9= 11x 11+ 12 x 11 =
_ _ 11x3= | 6x11-
- 6
8x1- | 8x2- IS X9
Ax11- | 11x8-
X Ox6° 11x9= | 10x11-
3y 3 - By 4 - 7511 | 11x2-
11xb-= 1x 11+
8x 8- bx 8-
By
Gem o O BEATERTI SRR URS - Wes | Seoves §




C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1x 8= 6x 8= 9x 9= /xX9-= 1x 11+ 11x6 =
] ] 1x2= |7x11-
6 6
8x7- | 2x8- I X/
9x11= | 11x11-
0x0 - Ox 3= x4- |11x10-
8y 4 = 9y 8= 8x11-= 12x 11+
3x 11-= 11xb-=
10x 8= bx 8-
- A
Gem o O BEATERTI SRR URS (e | Seeves §




C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
6x 8= 9y 8 = /X9-= 6x7/ = 4 x 11+ 6x1]1-=
] ] Mx11= |11x2-
6 - 66 -
3y 6 - By 2 - I X X
9x11= | 1x11-
Ox4 = 10x 8- 0x11- |11x8-
1y 8- 8y 5 - 12x11= | 3x11-
1x7-  |11x5-
8x3-= X7 =
- 5y
Gem o O BEATERTI SRR URS s | Seeves §
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1x 8= 10 x 8 = / X/ = 6x 6= 11x 2+ 12 x 11 =
9y 9 - 5y 7 - Ax11- | 11x7-
Oxb-= Ox 7/ =
9x11= | 8x11-
0x0 - 3x8° 1x11- |11x10-
8y 4 = 8y 9= 5x11- 11x1-
11x6-= 3x 11-=
6x 8= Bx 2=
3y
Gem o O BEATERTI SRR URS e | Seeves §




C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
3% 8= 8y 8= 9x 6 = /X9-= 5x11-= 9x 11-=
_ _ 11x6-= 1x 11+
6x 6
5x 8= 83X 0= Ix X
1x11- |11x8-
ox7e Ixo- Mxd=- |12x11-
By 1- By 4 - 7511 | 11x2-
0x11- |3x11-
Bx 2= 10x 11 =
- 5y
Gem o O BEATERTI SRR URS ey | Seeves §
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
7% 8= 4y 8= 9x 7/ = 9x 9 - 12 x 11 = 11x6 =
6y 6 - 6y 7 - 11x5= |10x11-
6x 9= Ox3-=
2x11-= 11x 8=
0x0 - Ix B+ 1x9- | 7x11-
8y 1- 8y 10 - Mx4= | 11x11-
1x 11 11x3-
5x 8- 72X 8-
3y
Gem o O BEATERTI SRR URS s | Seeves §
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C s BOT) |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
8x 3= 9y 8 = 9x 7+ 9x 9= 1x11-= 11x 11+
_ _ 11x 2= 11x 8=
6 - 6
8 x 6 - 7% 8- v X X/
4 x 11+ 9x 11-=
Dx8- | 4xD- 10x11= | 11x3*
8x 10 = Bx 2= 11x12 = 5x 1=
6x 11 - 7x 11
8x1-= 6x 8=
By
Gem o O BEATERTI SRR URS s | Seeves §
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
5y 10- | 5y8- 9y 6 - 6y 6 - 2x11-  |ex1i-
_ : nx8- | 11x1-
8x8- | 8x3- oxs /xS
Mxd= | 11x11-
6 - -
o 1x® 12x 11 = 3x 11+
9x 8- Bx 2= 11x7 = 11x5-=
10x 11 - 11 -
/X0 = 8 x4 = X 9 x
By
@m0 O BEATTIRTI SR TRS - T | Seoves b
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Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1v8-8 |9vg-72 6x6-36 | 9x6-54 1x11=11 | 7x11-77
_ - 63 10 x 11 = 110 3x 11 =088
8x2-16 | 8x7-56 Ix9=01 19x7
11x3-=33 | 11x5+=55
10x8=080|8x8-64 Ax11-44 | 2x11-22
Bx4 =37 | 8x6=48 9x 11=99 | 11x11=121
11x6=66 | 12x11=132
8xb=40 | 3x8=24
3y
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Name:
Class:
k[7ate:

.

8x5=40 | 0x0=04
3x0=24 | 8x/ =56
8x4=32 | 1x8=5
2x8=16 | 9x8=72
10x8=080 | 8x6=48

\&

Step 13 - Si Fact Challenge! q Step 14

/X /=49

6x 630

Ix11=11 | 7x11=77

9x 6 =54

11x9=99 | 6x11=066

3x11=233 | 11x2=722

11x4=44111x08=280

11x5=55110x11=110

11x11=121 12x 11=132

g OY BEAPTRTISCEmBURS - Tza | Seoses
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C s BOT) |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
10x8=8017x8=56 6x6=36 9x 9 =31 1Ix11=121 | 12x11+=132
] ] 11x3-=33 | 6x11- 66
63 | 6x9-54
8x1-8 |8x2-16 X/ X9
Ax11-44 | 11x 8- 88
IX8772 [8x6740 11x9=99 | 10x11=110
Ox3=24 | 8x4 =37 /x11=77 [V 11x 2=727
11x5=55 | 1x 11+ 11
8x8=064 | bx8=40
\_ iy,
Gem o O BEATERTI SRR URS - Wes | Seoves §
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - Si Fact Chalienge q Step 14 R
1x8=8 6x 8 =48 9x9 =081 /x9=63 1x11=11 | 11x6=0606
9X6=54— 6X7=4-2 11X2=22 7X11=77
8x7:56 | 2x8=16
9x 11=99 | 11x11=121
Ox=6t |0x3=24 11x4 =44 | 11x10-110
Ox4=372 19x8=72 B8x11=88 | 12x11=132
3x11-33 | 11x5- 55
10x8=801|5x8-=40
By
Gem o O BEATERTI SRR URS (e | Seeves §




C s BOT) |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
6x8=48 | 9x8=72 /x9=63 | 6x7=42 4x11=44 | 6x11=66
6__.5 6 6___ 11x 11= 132 11)(2:22
Bx8=64 |Bx2-16 IX6 o4 16x6-36
729 | ayo-s1 9x11-99 | 1x11- 11
4%8-32 | 10x8=80 an oxt1-10 | 115 8- 88
1x8=8 | 8x5=40 12x11-132 | 3x 11=33
11x7-77 | 11x5-55
8x3=24 | B8x7=56
3y
Gem o O BEATERTI SRR URS s | Seeves §
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Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1x8=8 10 x 8 = 80 /x7=49 1 6x6=7306 Mx2=22 | 11x11=121
9y 9=8] 9y 7 =63 4 x11=44 11x7/7 =7/
Bxb=40 | 8x7 =56
9x11=99 | 8x11=88
Ox 6064 3x0-2% 12 x 11 =132 11x 10 = 110
Bx4 =37 8x9=77 5x11=55 111x1=11
11x6=066 | 3x11=33
6x8=48 | 8x2=16
By
Gems o O PEOTTRT SEmEURS e | Seeves )




C s BOT) |
Name:
Class:
k[7ate: )
Step 13 - Si Fact Challenge! q Step 14 R
3y 8=724 | 8x8=64 9x6=54 | /x9=63 5x11=5519x11=99
] ] 11x6-66 | 1x11=11
: 6% 6 =36
5x8-40 | 8x6-48 9x9-081 | bx
11x11=121 11x 8=089
Ox 7726 |9x8=72 11x4 =44 | 12x11=132
8x1-8 |8x4 =32 7x11-77 | 11x2-22
10 x 11 = 110 2x 11 =33
8x 2=16 10 x 11 = 110
\_ iy,
Gem o O BEATERTI SRR URS ey | Seeves §




C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
7x8=56 |4x8=32 9x 7/ =63 9x 9 =081 12x11=132 | 11x 6= 66
6x6 =36 6x7 =47 I11x5=55 ] 10x11=110
Bx3=24
2x11=22 | 11x8=088
0x8=64 | 9xB=72 11x9-99 | 7x11-77
8x 10 = 80 Mx4=44 | 11x11-=121
1x11=11 | 11x3-33
2x8=16
\_
Gem o O BEATERTI SRR URS s | Seeves §
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Name:
Class:
k[7ate: )
Step 13 - Si Fact Challenge! q Step 14 R
8x3=24 | 9%x8=72 9x7=63 | 9x9-=081 1x11=11 | 11x11=121
) _ 11x2=22 | 11x8=288
6=54 |6x7=42
Bx8-64 |7x8-56 I X X/
Ax11-44|9x11-99
5x8=40 |4 x8=532 ox1i-10 | 11y 3 - 33
8x10-80 | 8x2- 16 1x12-132 | 5x11=55
6x11-66 | 7x11=77
8x1=8 6x 8=48
By
Gem o O BEATERTI SRR URS s | Seeves §
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Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
8x10:=8015x8=40 O9x6=54 | 06x6=30 2x11=22 | 6x11=66
] ] 8x11-88 | 11x 1= 11
6x7 =47 -
BxB-64 | Bx3=24 X7 o42 | 7x97065
1Mx4 =44 | 11x11+=132
Bx0=48 | 1x8-=8 x11-1220 | 3y 11-=33
9x8=72 | 8x2-16 11x7-77 | 11x5=55
10 x 11 = 110 171 =
/x8=56 | 8x4 =32 ' I 7
iy
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